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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.

2x10=20

@I B 2eis Ted mie ¢

a)

b)

Construct a set from the collection of following

numbers:

> @vre FAle] M @G set (o1 w9 ¢
1,2,2,3,4,4,4,5,6,7,7,8

Define Rational number.

AT AR e vl |

Given the demand function P =4- % q; obtain

the quantity demanded if the good in question
is a free good.

& O o 1
T q @t Ry [ie &2, eiewE P=4——

ﬁq
pifEnl @2 2E (G sifEwia sl v g@e

[Turn Over]

d)

g)

h)
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Find the slope of the straight line 4x+3y=1.
4x + 3y = | TR vle e 311

Find the elasticity of supply for supply function
x =2p” +5 when P=3.

X =2p*+5 @9 ACAFFT (F9 P=3 20
@eitTa FRfezisiom wiw e 52

Find AC and MC, given the cost function
C=Q(Q*-2).

R WA C=Q(Q° —2) 2@ o1g I ¢ Al
AERIESEE]

Q!=25-2P

Q =P-2

Find equilibrium price and quantity.
SIS IS G wAfRTel el 59|

Find total revenue function and the marginal
revenue function from the following average
revenue (AR) function :

AR =60 - 3Q
51T 1T S2FF0 AR = 60 — 3Q Z(E (WG oI «R
AfEF <1 o 7io ez 74|

Find the value of elasticity when AR=5 and
MR=1.

FEfegivmea Wi e 39 799 AR=5 @3t MR=1 |

(2)



j)  IfU=xy is the utility function, what will be the
slope of the indifference curve?

Toierel SICsrms U = Xy 2 WA (9 0 6
2E?

k)  Find the value of x for which the function y=a-+bx
has an extreme point.

X~43 (I N G y = a+bx SAFHOH G0 5
T el A2

1)  Given the MC = 3¢*>— q + 0.6, derive the TC
function.

2AeS 3 @4 MC = 3> — q + 0.6 = @ I
(TC) carl Aifes w41
m) Write Cobb-Douglas producion function.

TG CLAT SR (12|

n)  What do you mean by inverse function?
Qe Sers <e0e 6 (e

o) Givenw=ay’andy=bx>+c, find ((11—:: by chain
rule.
AT w = ay? @R y = bx> + ¢ (B3 FER AR
i—z fojefa =11

2.  Answer any four questions: 5%x4=20

@~ BIATD AF Ted 7S ¢

a)  The MC function of a firm is 2+3¢* where X is

119/Eco (3) [Turn Over]

b)
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the output. Find the AC function when Fixed Cost
(FC) is Rs.200.

GG PG 2fET T SCofP 251 2+3e%, @A x
28T CRAR T | TG TR0 SICo Tolef2 1 4 GG T30
& Rs.2001

A demand function is given by

P=ax"(a>0,b>0). Obtain the marginal

revenue function. Comment on the likely shape
of the marginal revenue function.

af6  sifewl  weAwms eIl Wit
P=ax"(a>0,b>0) | &S S Scorw<s ey T
Q3R 3 Pl ot 20 0Tl 41 |

Differentiate between local and global optima.

FIAR Q3R AIEE Freres Kvgg e oAl 74|

Examine whether the function y = 5x+25 is a
monotonic function or not.

Y = 5X+25 SAHH A SIS el O oAl
Sl

Prove that Budget set of the consumer is a
convex set.

2l = (@, (PO AEH (6 26T 96 O6e (0 |
. dy

Find o for x° —-3x%y+9xy*—81y’ =100 .

x’ —=3x*y+9xy’ - 81y’ =100 SCAFFO (FCG

dy et 41
dx
(4)



3. Answer any two questions:

10x2=20

@I 7B &0sd e e ¢

a)

b)
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A firm has the following total cost and demand

functions :

G5 T GG T oS G2 HIfEn Sorws 261

Q3
C=?—7Q2+111Q+50
Q=100-P

1)  Does the total cost function satisfy the
coefficient  restrictions of an
economically meaningful short run cost
function?

TAEE (NG 7 SorFwod wamefs
FHEIIAN T SFE Ao F wleof o
*GIE! AleTe FACZ Bl ©F (TG |

i1)  Find profit maximizing level of output, and
the profit at this level of output. 3+7

(64 e R SeoAMCTa sAfFwief @)
& oA IR AT fefa 59|

Given demand and supply for the Cobweb model
as follows :

Q,=19-6P, Q,=6P -5

GG FASEF (O HIfEvl @ @9 Sisraefs ge
IAPGFE Q, =19-6P, Q, =6P_ -5

(5) [Turn Over]

d)
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1)  Find the equilibrium price and quantity.

SR IS G wAfRTel e 59|
11)  Examine whether the equilibrium is stable.
g2 Ol FRfoiie fhal s 54 |
ii1) What will be the nature of the time path ?
4+3+3
@2 T #1257 oS [ 2@

Find the relative minimum of the following
average cost function and show that the graph

of the function is a U-shaped curve. 10
AC=1(Q)=Q*-5Q+8

AC=f(Q)=Q*-5Q+8 T I TSI
oS Ay W [ 9 @I (e @ 51T R
@?ITU@H?\_M. |

Suppose U=logQ, +2logQ, is the utility

function of a consumer who has Rs.120 to be
divided between two commodities x and y, and
suppose the unit price of y is fixed at Rs.0.20:

1)  What will be his demand equation for x?
11)  Find the point elasticity of demand for x?
111) What is the shape of this demand curve?
3+4+3
@l 9% U=1logQ, +2logQ, =& 4F& (SI&FH
Tl SIS | @ (ole! $1F 120 51 g6 @3y x

(6)
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AR y G S 19 FEF QR G AT y TS G5
7S 0.20 BI<l, OIRCE

) SR x 93 vifewl AN fF 2@
i)  x w3 vifemiz v FRfegierrel ey w4
iii) @ viftnl @2ifod S @9 29 2
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